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;:L:;:;: EartA: Grammar & VocabularyJ
,u,-:’,/ ol ,LV:,‘., Directions: Questl nsf\6'1-67 are mcomplete sentences. Choose the one word or
be \E‘jzga to phrase that bes compietes the sentence Then mark the correct choice on your
Y68 slatnie answer shect. LG e 2
61. My friend’s mother asked me about her, but nnfortunately I dldn’t know ......... .
1) where is she 2) where she is
3) where she was 4) where was she
62. “When will you return?” “......... I mentioned in my last letter, I’ll be back in December.”
1) since ' 2) as 3) when 4) while
63. I was very much surprised when I heard that you have ......... passed the university entrance exam
and won a scholarship to Cambridge University.
1) wonderfully 2) successfully
3) powerfully 4) probably

64. After the surgery the very sick baby spent 3 nights under careful

in the hospital.
1) information
3) attention

65. Lack of enough food is a source of anxiety for

2) observation
4) relaxation

....... .. plants that can survive in different conditions.

1) protect 2) produce
3) perform 4) present

66. Iknow that after the divorce, she will not give up her children without a/an ......... .
1) influence 2) research
3) choice 4) struggle

67. After that failure in yesterday’s meeting, I could feel that the manager’s .........
becoming more and more aggressive.
1) interest 2) behavior 3) average 4) dislike

by the doctors and nurses

officials. Therefore, scientists are now trying to

towards her was
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Farl B: Cloze Test l @elmeruzkonkoor

Directions: Read the following passage and decide which choice (1), (2), (3) or (4) best fits each
blank. Then mark the correct choice on your answer sheet.

The body uses both carbohydrates and fats as ...(68)... source . But after consistent acrobic
exercise training, the body gets better at ...(09)... fat, which requires a lot of oxygen to
convert it into ...(70)... . Countless studics show that exercise can relicve symptoms of
depression. Exercise triggers the ...(71)... of chemicals in the brain-serotonin, norepinephrine,
endorphins, dopamine — that dull pain, lighten mood and relieve stress. ...(72)... you exercise,

your muscles generate a lot of heat, which you have to give up to the environment so your
body temperature doesn’t get too high.

68.
69.
70.
71.
72,

1) nutrients 2) energy 3) fuels 4) exercise
1) stretching 2) bending 3) burning 4) storing
1) fat 2) blood 3) muscle 4) energy
1) keep 2) release -~ 3) carry 4) increase
1) When 2) Whether 3) Since 4) Because

[Part C: Reading passage ]

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits each
blank. Then mark the correct choice on your answer sheet.
Passage (1):

We all know that exercise is important in our daily lives, but we may not know why or what
exercise can do for us. The most obvious benefit of doing exercise is that physical activity
helps develop healthy bones, joints, muscles and stay in shape. Those children who are
physically and mentally active, fit and healthy for life. Some schools design especial sport
programs for children to engage students in daily lesson activities that lead to motor skill
development and emphasize making healthy choices in life.

Research shows that healthy activity helps strengthen and stimulate a young person’s mind.
Studies indicate increased fitness and sports activities leads to improved academics and
attention spans. Physical education also helps students build self-discipline and personal goal-
setting. College requires a fair amount of energy and lots of brainpower to keep up with
classes and other activities. Exercise delivers oxygen and nutrients to the brain and various
tissues, This means you can concentrate better and think clearly. Plus, because exercise helps

Lyour lungs and heart, you have more energy to do other things.

73. What is the best title for the passage?

1) School programs in all over the world 2) The importance ol exercise
3) Lungs and heart as important organs 4) preparing energy for the heart

74. What basic question doesn’t the writer answer in the passage?

1) What are the advantages of physical activities?
2) Why in some schools physical activities are important?
3) What is the function of doing exercise?

4) What kind of nutrients does a person need in academic life?
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75.

76.

All of the following ave mentioned in the passage EXCEPT ......... .
1) Doing exercise has several advantages

2) Physical activitics make better mental activitics

3) Exercising prepare encrgy and power for your body

4) All people know about the advantages of exercise

It can be understood from the passage that ......... .

1) Better physical education programs at school lead to smart and creative students
2) The role of exercise in preparing carbon dioxide is very important
3) All academic situations sometimes distract students from the class
4) Bones, joints, muscles get weaker when we don’t exercise

Passage (2):

The planet Earth is 4,600 million years old. It is difficult for us to think about such an
enormous length of time because it has little meaning for us. We can however, simplify the
idea to make it more understandable. We can compare the planct Earth to a person of forty
six years of age.

Nothing is known about the first seven years of this person’s life. Very little information exists
about the middle period either. It was only at the age of forty-two that the Earth began to
flower.

Dinosaurs and great reptiles did not appear until one year ago, when the planet was forty five.
Mammals only arrived cight months ago. In the middle of last week, man-like monkeys
became monkey-like men and began to communicate with each other. Last weekend, the Ice
Age covered the Earth.

Modern man has only been around for hours. During the last hour man discovered
agriculture. The Industrial Revolution and the rise of large cities began just sixty seconds ago.
During that short time, modern man has made a rubbish tip of the Earth. In one minute, he
has increased his numbers to terrible proportions, and has caused the death of hundreds of
species of animals. He has robbed and destroyed the planet in his search for fuels. Now he
stands like a violent, spoilt child, delighted at the speed of his rise to power, on the edge of the
final mass destruction and of killing all the life which exists in the solar system.

77.

78.

79.

80.

The passage tells us that ......... i

1) a great deal is known about how the Earth was created

2) life on Earth began relatively recently

3) more is known about the first part of the Earth’s life than middle part
4) scientists are well-informed about the middle part of the Earth’s life
We are informed by the author that ......... .

1) the dinosaurs appeared during the middle period

2) mammals and great reptiles both appeared at the same time

3) there were more than forty-five kinds of great reptiles

4) monkey-like men appeared before the last Ice Age

The author is mainly interested in ......... .

1) the time when man first evolved from monkeys

2) what has happened since the Industrial Revolution

3) the eff(?cts of farming @elmeruzkonkoor
4) the period before the last Ice Age.

The author’s general view of man seems to be that he ......... .

1) has no right to be so destructive 2) has been the most successful animal

3) will be able to control the environment 4) has learned a lot from past mistakes.




